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Exercises 
 
 
1. Find the simplest form of the fraction 
shaded in each of this drawings. 

   
   

  

   
   

 
 
2. There are 144 apples in a box. 

Calculate how many apples each  
statement represents. 

 
a.   1/2  of the apples are red. 
 
b.   3/4 of the apple are French. 

 
c.   5/12 of the apples weigh more  

than 110 grams. 
 

d.  5/36  of the apples are bad. 
 
e.   1/6 of the apples are in top  

layer 
 
 
 
 
 
3. Peter weighs 32 kg. 

Find the weights of the following  
members of his family. 
a. Peter's father who is 3 times 

heavier than Peter. 
b. Peter's mother who is 28kg 

lighter than his father. 
c. His sister Jane who weights — 

as much as his mother. 
 
 
 
 
 
 
4. John's Company hired 54 new  

employees on August 27. Now there  
are 162 workers with the company.  
How many people were working for   
the company before August 27? 

GÁ¤-»ôh-qºÛ-¼Û-¤ôºÛ-mP-GÛ-IÛz-mG-n¤Å-V-¯ÛÅ-ˆÛ-Pô-zô-¾Å-ÇÀ-
ÁôÅ-PP-ƒÛÅ-hGôÅü 
 
 
2] ÇK¤-ŸÛG-GÛ-mP-;Ý-ÁÝü 144 »ôhü GÁ¤-GÅ¾-Gb¤-
zÁh-¼ï-¼ïÅ-;Ý-ÁÝ-G-±ôh-¤±ôm-HÛ-»ôhü 
 ;] 1/2   ;Ý-ÁÝ-h¤¼-qô-»Ûmü 
 D] 3/4  ;Ý-ÁÝ-wï-¼ï™U-»Ûmü 
 G] 5/12  ;Ý-ÁÝºÛ-¿YÛ-±hü 110 grams ¾Å-

Vï-z-»Ûmü 
 P] 5/36   ;Ý-ÁÝ-ÇkÝG-TG-»Ûmü 
 T] 1/6  ;Ý-ÁÝ-n¤Å-VGÅ-¼Û¤-¤fô-ÁôÅ-Å¼-GmÅ-

»ôhü 
 
 
 
 
3] qÛ-‡¼-HÛ-¿YÛ-±h-mÛü 32 kg. »Ûmü 
   GÁ¤-GÅ¾-»ôh-qºÛ-DôP-GÛ-mP-¤Û-n¤Å-ˆÛ-¿YÛ-±h-º±ô¾-

hGôÅü 
 ;] qÛ-‡¼-ˆÛ-»z-mÛ-qÛ-‡¼-¾Å-¿kz-GÅÞ¤-HÛ-Vï-z-

»ôhü 
 D] qÛ-‡¼-ˆÛ-»Þ¤-mÛ-qÛ-‡¼-¾Åü 28kg HÛ-»P-z-

»ôhü 
 G] DôP-GÛ-Çtäm-Wïm-mÛ-DôP-GÛ-»Þ¤-hP-ºi-¤±ßPÅ-

»Ûmü 
 
4] Wôm-HÛ-z¸ô-IÔÅü August 27 ZÛm-¾Å-¤Ûü 54 JÀ¼-

¾ïm-»ôhü h-¿e-z¸ô-IÔºÛ-mP-¾Å-¤Ûü 162 »ôhü 
z¸ô-IÔ-hïºÛ-mPü August 27 HÛ-ÇSôm-¾-¾Å-¤Û-GÏ-
±ôh-»ôh-h¤ü 


